BWRY—NNCFIBE7r— MR (BHMHE)

B im AT ER f A Bl Esey BEmER 2E&
E ONZ>F 220 458 28#% 62.2%
zg | ? | oFFsv7 2064 454 158 33.3%
429 | | onzvT 1504% 491K 354k 71.4%
Yl oFFsy7 1574k 314k 641 19.4%
&t 7331 170%% 84 49.4%
b | onsvT 2631% 7415 4615 62.2%
we | 2| oFFsuT 172#% 441 1748 38.6%
429 | | onzvT 1564% 38#% 274k 71.1%
Y|l oFFsv7 3554K 654 19 29.2%
&5t 9461 221 1094 49.3%
waEt 1,679% 391#% 193#% 49.4%
15 n=193 o 2 =193
0,
140 72A,
120 50 20%
100 40
a0
o0 26% 30 11%
40 20 4%
20 : 10 2h T o
. % 0% 0
. i i *?%E O o 201t 30t 101 5ot soft | TombL | FEE
- B ) ’ *B8 0 2 13 35 36 20 2 1
¥ 56 4 4 EH 0 1 9 23 27 18 6 0
E{Eih n=193
7GR 63%
L 5%
H13R 12%
RESR 16%
1] 2%
FOZE 19
0 20 40 60 80 100 120 140
FOZE el RER AR I R
+H 3 15 14 5 46
B 0 16 9 7 76




BWRY—NNCFIBE7r— MR (BHMHE)

@ == ‘[c_< F
e n=193
21 B AFEE 76%
s 2%
BE% 9%
I EE 4%
2 0%
Fhatfh 2%
iERE 0%
Eid 2%
Z O 5%
0 20 40 60 80 100 120 140 160
ZO E iERE Fh'{} s IR FTE | aEE EffE 2B 4AEE
B 7 0 1 2 0 2 11 2 59
#*B8 4 3 0 1 0 6 6 2 a7
HiE n=193 FaFI4n - n=193
180
B4k HmE 1 1%
160 _
DA 88%
140 =N 11%
0 50 100 150 200
120 ETR LA FErE
FH 11 70 3
100 8 10 99 0
80
BETHEE n=193
60
FlogO 1%
40 5%
|
10% Blo#E A
20 5% 381 #(E 8%
1% 0% 0% IFIFEH 86%
0
— & 50 100 150 200
BAT  PWE  ANE  HAS BEHE JTEE'] ° °
] EEEE ElC#E Blz#E Flo#E
#*B8 91 4] 2 0 10 0 Eas 71 g 2 2
B 72 3 0 0 9 0 s 94 7 7 1




